ALEKS"® 101 Mock Final #1

Beginning and Intermediate Algebra Combined / MATH 101 - Fall 2014 — 504 (Prof. Miller)

Student Name/ID:

1. Solve the compound inequality.
—le < 4x+4 < 16

Graph the solution on the number line.

bbb b
-1-10-9-8-7-6-5-4-3-2-10 1 2 34 567 g 91011
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" For each system of linear equations shown below, classify the system as "consistent dependent,”

"consistent independent,” or "inconsistent." Then, answer the question about its solutions.
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L1: y=—x—1
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L2: =_—x—2
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This system of equations is:
- consistent dependent - consistent independent
This means the system has:

- a unigque solution:

Solution: ( , ) - no solution

L1: y=x+7~
L2: y=—x+4

Lz

This system of equations is:

- inconsistent

- infinitely many solutions
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- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unique solution:

Solution: ( , - no solution - infinitely many solutions

L1: y=—3x—3
L2: 3x+y=—3
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This system of equations is:
- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unique solution:

Solution: ( , ) - no solution - infinitely many solutions

3. Simplify the following expression.

ox —4—10x +10+3x
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4. Write an equation of the line below.

-G-7-6-5-4-3-2=} 234587

5. Solve for v
—dy = =20

Simplify your answer as much as possible.

6. Find the value of 9w — b given that —4w —4 =4

Simplify your answer as much as possible.

7. Leila purchased a prepaid phone card for 25 Long distance calls cost 23 cents a minute using this
card. Leila used her card only once to make a long distance call. If the remaining credit on her card is
$14.65 how many minutes did her call last?

8. Find the slope of the line passing through the points (—9, —FS) and (—4, 5)
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9. Evaluate the following.

45+ (-5)

1
1

—6X(-5)

10. Translate this sentence into an equation.

G0 s the product of Rick's score and 4

Use the variable ¥ to represent Rick's score.

11. Add.
g 3
4=
10 4

Write your answer as a fraction in simplest form.

12. Solve for u

lu|— 16 = —8

13. Evaluate.

4496

14. A wire is first bent into the shape of a rectangle with width 11 crm1 and length 13 crm1 Then the wire is
unbent and reshaped into a triangle. If each side of the triangle has equal length, what is this length?
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15. Use substitution to solve the system.

v = 3x—4
dx+3y = 27

x =]
y =

16. Find an ordered pair (x, y) that is a solution to the equation.

2x—y=3

17. Evaluate.

18. Graph the solution to the inequality on the number line.

lu—2|> 6

T S T TR U TR R AU SR SN EAPU N SO NP RPN NP U R P R
B o B e B e e e B B L
-11-10-5-8-y-§-5-4-3-2-10 12 34 5 47 8 51011

19. Find the value of 2u —6 giventhat —3u—5 =7

Simplify your answer as much as possible.
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20. Solve for u
06 =4u

Simplify your answer as much as possible.

21. Solve for u

/B —u =168

22. Find an ordered pair (x, y) that is a solution to the equation.

x—6y=0

23. Solve the inequality for y

Y 1 Gy
g7 Y73

Simplify your answer as much as possible.

24. Hong bought a desktop computer and a laptop computer. Before finance charges, the laptop cost $4C0
less than the desktop. He paid for the computers using two different financing plans. For the desktop the
interest rate was /.2% per year, and for the laptop it was =% per year. The total finance charges for one

year were $371 How much did each computer cost before finance charges?
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25. Solve for w

w|—21=-14

26. Graph the line.
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27. What number is equal to \;@ ?
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28. The equation of a line is given below.
—3x—oy=—1>5

Find the slope and the Vv-intercept.
Then use them to graph the line.

slope:
¥-intercept:
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" For each system of linear equations shown below, classify the system as "consistent dependent,”
"consistent independent,” or "inconsistent." Then, answer the question about its solutions.

L1: y=x+3
L2: y=—x+3
¥
5__
L2 | L1

This system of equations is:
- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unique solution:

Solution: ( ’ ) - no solution - infinitely many solutions
5]
L1: y=—x+3
Z
L2 > 3
S Y=—Xx—
Y Z
N
i1

This system of equations is:
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- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unique solution:
Solution: ( .

- no solution - infinitely many solutions
L1: y=2x—2¢

L2: —2x+y=—"2
¥y
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This system of equations is:
- consistent dependent - consistent independent - inconsistent
This means the system has:

- a unique solution:

Solution: ( , ) - no solution - infinitely many solutions

30. Use substitution to solve the system.

px+4y = o
x = 3y—18
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31. For each graph below, state whether it represents a function.

¥

-
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=

Function?:

Yes No

Function?:

Yes No

Function?:

Yes No
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1}*
4__
-
2__
— . % Function?:
ol e z 4 Yes No
_2__
_4__
»
—— Function?:
R Yes No
_4__
_6__
_8__
¥
hq::l
' ' | . ¥ Function?:
- E 2 4 Yes No
r—aai
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32. Solve the following system of equations.

fx—2Z2y=-58
dx—oHyv=—-58

33. Using the pencil, plot the point (-’-l, —3)
¥

34. Graph the line whose y-interceptis —3 and whose Xx-intercept is —2
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35. A movie club surveyed 230 high school students. The students were asked how often they go to the

movies and whether they prefer action movies or dramas. Their responses are summarized in the
following table.

Twice a month Three times a month
or less or more
Action 78 32
Drama 87 a3

(a) What percentage of the students go to the movies three times a month or more?

(b) What percentage of the students prefer dramas ?

36. Use the distributive property to remove the parentheses.

—S5{-y—4w+3)

37. Consider the line —8x — €y = —4
What is the slope of a line perpendicular to this line?

What is the slope of a line parallel to this line?

38. A pet store has 7 cats. Here are their weights (in pounds).
16, 7, 15, 15, 16, 13, 7

Find the mean weight of these cats.
If necessary, round your answer to the nearest tenth.
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39. A theater group made appearances in two cities. The hotel charge before tax in the second city was
$1200 higher than in the first. The tax in the first city was 4% and the tax in the second city was 5%

The total hotel tax paid for the two cities was $5 1 How much was the hotel charge in each city before
tax?

40. Find the slope of the line graphed below.

41. Lamar rented a truck for one day. There was a base fee of $20.92 and there was an additional charge

of /G cents for each mile driven. Lamar had to pay $178.31 when he returned the truck. For how many
miles did he drive the truck?

42. Find the x-intercept and y-intercept of the line.
Cx—8By=—15

X-intercept:
y-intercept:
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43. Graph the solution to the inequality on the number line.

w+4| < 5

AP U R PO S N PO T SO S I T S S SO S U TP S WP SO
e e e e e e L e s
-1-w-5-2-F-6-5-4-32-2-1012 34 5 67 801011

44. Graph the inequality below on the number line.

b < -5

45. Solve for x

le|— 16 = -8

46. At the city museum, child admission is $5.30 and adult admission is $8.20 On Wednesday, 124
tickets were sold for a total sales of $10a0.7() How many adult tickets were sold that day?

47. Round 0.487 to the nearest hundredth.
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48. Use the distributive property to remove the parentheses.

—8({-2x+4u—75)

49. What is 20% of 597

50. Graph the line x = —1
Ty
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51. Graph the line with slope 3 passing through the point (2, —1)
ot

8__

6__

52. Tom is going to rent a truck for one day. There are two companies he can choose from, and they have
the following prices.

Company A charges F 100 and allows unlimited mileage.
Company B has an initial fee of 355 and charges an additional $C.70 for every mile driven.

For what mileages will Company A charge less than Company B?
Use 1 for the number of miles driven, and solve your inequality for ¥t

53. The sets A and E are given below.

A=1{1234¢6"}
E=1{0,238}

Find the union of A and £

Find the intersection of A and £
Write your answers using set notation.
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54. Solve the following proportion for v

Round your answer to the nearest tenth.

55. Suppose that the weight (in pounds) of an airplane is a linear function of the total amount of fuel (in
gallons) in its tank. When graphed, the function gives a line with a slope of £.2 See the figure below.

With 48 gallons of fuel in its tank, the airplane has a weight of 2227.6 pounds. What is the weight of the
plane with 7/ gallons of fuel in its tank?

Airplane
. 229?-6;—/7//
weaight |

[in pounds J

Amount of fuel
Iiin gallonz]l

56. Solve the compound inequality.

—4 < 4x—4 < 16

Graph the solution on the number line.

S S S S S S T R SO T T SO S S S W'
11
-1F10-8-8 -7 -6-5-4-3-2-10 1 2 34 587 8 581011
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57. Write an equation of the line below.

58. Solve the following proportion for ¥

Round your answer to the nearest tenth.

59. Graph the line whose x-interceptis —1 and whose V-intercept is 3
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60. The entire graph of the function h is shown in the figure below.
Write the domain and range of h using interval notation.

¥
o1

-
-
o
=
-
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101 Mock Final #1 Answers for class Beginning and Intermediate Algebra
Combined / MATH 101 - Fall 2014 - 504

—————————p————
-11-10-8-8-F -6-5-4-3-2-10 1 2 34 587 8821011
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L1
L \

-6

This system of equations is:
- inconsistent
This means the system has:

- no solution

L1: y=x+"~
L2: y=—x1+4

Lz

This system of equations is:
- consistent independent
This means the system has:

- a unigque solution:
Solution: ( 1, 3 )
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This system of equations is:

- consistent dependent
This means the system has:

- infinitely many solutions

3 S r3xde
4. y=—x
5, v=13

6. Sw—0 = —23
7. 45 minutes
8. 11

5

9. 45+(-5) =-9

—6X[{=5) =30
10. 60=4r
11.33 13
—or 1 —
20 20
12. 4 =8, -8B
13. 76
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14. 16

15. » = 3

16. One possible answer is (x,y) = (':', _3)

17. (_9)2 —

(—4) = —64

18. |

}

Ty | £ Ty e

e - ———
-1F10-8-8-7-G-0-4-3-2-10 12 34567 2581011

19. Ju—6=-14
20. u =24
21. y = —80
22. One possible answer is (x,y) = (6, D)
23. 4
Y 23

24. Desktop: $2600
Laptop: $2200

2. w=7,—-7
26. | . T

I:I:I:I:I:M:k-_lh“‘."*—*"r‘gi!’"‘:‘.';.I:':'Jr
0 & -6 4 2 | 2z mw

27. 3
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. 3
slope. — —
Pe: 7%

y-intercept: 3
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29.L1: y=x+3
L2: y=—x+3

L2

This system of equations is:
- consistent independent
This means the system has:

- a unique solution:
Solution: (D, 3)

N
L1: y:Ex-I—S

Lo = x—3
CYy=—x—
Y75

This system of equations is:
- inconsistent
This means the system has:

- no solution

ALEKS 101 Mock Final #1 - 11/23/2014 4:16:13 PM MST - Copyright © 2014 UC Regents and ALEKS Corporation. P. 28/32



o
im0

This system of equations is:
- consistent dependent
This means the system has:

- infinitely many solutions

31 ’ : §
.
ot
£ T
x| L x|
s 1 t
\/ ER R RN 4 = 2 4
» 2
3 -t Py
-t 4 .
al
Function? © es & Mo = Tes € Mo = Tes € Mo
F3 N ¥
a1 o
» . Wt )
ol 1
2L
x| x| x|
1 i + t ———+ — t t + t
4 -z z 4 EEEE NN 4 2 z 4
2 ot
. P
-4t T
» 6T
Function? © Yes & No © Yes & No 0 Yes & No

32. » = —1

y=1
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35. (a) 34%

(b) 06%

36. 5y+ 20w — 15

37. y
Slope of a perpendicular line: E

Slope of a parallel line: - —

38. 12.7 pounds

39. First city: $5750
Second city: $7250
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40. ¢

41. 207 miles
42. 5
x-intercept: ——
2
_ 15
y-intercept: —
8
43.
RPEPS AN N (S RIS IE I A S YT
44.
TR S SR T S I I AR
45. x =8,—8
46. C7 tickets
47. 049

48. 16 x—32u+40

49. 13.8
50.| . ¥

ALEKS 101 Mock Final #1 - 11/23/2014 4:16:13 PM MST - Copyright © 2014 UC Regents and ALEKS Corporation.

P. 31/32



51.

52.
53.

54.
55.

m > o0
AUE=1{01273468"1
ANE=1{223"}

v=18.7

2477.4 pounds

56. |-

1 ———————————
-1F10-8-8-7-G-0-4-3-2-10 12 34567 2581011

57.

58.

2
y:—gx—l--il

y=12.1

60.

domain = [ —2, 3)
range = [ —4, 4 )
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